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M There’s Peter in his car. Did he take it to the garage to be fixed?

W: Don’t be silly! That would have been a waste of money.

Q: What conclusion can be drawn from the conversation?

A) Peter paid to have his garage fixed.
B) Peter now works in a garage.

C) Peter wasted his money in a garage.
D) Peter repaired his car himself.

M T A RS R AT LLAS N Peter BAEERBEE) MEAMBCE TH, Hilt, BT HE
A RB, XMATHITPHA garage — 18 B E5FEFMERL; 4 C M D W, WHH D EIE
HER. (DELERICRE, 0T M SO, i/E-—SiE %, UEH By UH ER s, WLl
WWRTEE, A, A% BF%. 2

T EET RS U EE TSN, RN AREA M REE R, AR E R L
TILA:

(1)itHE

REEHH OEET  H P ER A S T8 A — R R B il

M: How many students passed the test?

W Well, 900 students took the test, but two — thirds passed.

Q: How many students passed the test?

A) 900 B) 600 C) 300 D) 500

(2) B ER

REBEEEY KB EAEPASNGSFBL, BT B0 EA AV RE%, W

M: What's wrong with your TV? '

W It only has sound, but no picture.

Q: What is the man’s probable occupation?

A). Weatherman. B) Salesman.
C) Landlord. D) Repairman,
(3) bl _

BT H 16 X E W B A R R B . BRH AR X 35 A 2 1 A B L X
K E R BN H T, XEHFAERE BBR. R ES V5 BEE%, Ao

M: I’d like to reserve a single room with a bath.

W Just go to the front desk and they’ll help you.

Q: Where does this conversation take place?

A) In front of a desk. B) In a classroom.
C) In a hotel. D) In a restaurant.
(4) X EEXRE

REMERZEBES N EAFRIBRFAZRBARR, IHXRCERE GT 4L K
EAMBAJEERMBEE ERANRR SEMBHE, Him:
W: I have to go now. Look after yourself while 'm away. Good - bye,darling.

W: You will write to me every day, won’t you,dear?



Q: What is the probable relationship between the two speakers?

A) Salesman and customer. B) Mother and son.
C) Husband and wife. D) Father and daughter.
() ARXRE

RFREMERSERBTEREENRE 5 SR, EXXREP N S BAA SERAE what
F%E A @Y 1R why, #40:

M. I'm a little tired, so I want to go to the student’s lounge and have a rest. Will you join me?

W. I'd love to, but I have to go to the library to read the book reserved.

Q: Why can’t the woman go with the man?

A) She’s little tired. B) She is going to study.
C) She wants to go home. D) She’ll make a reservation.
(6) MR SHIEE

A3 R R 5 A TR AR X U B R R I IR AR E R S RS, BRANEATE
A% What does the man/woman mean? What do we learn from the conversation? %,

DAL BB BT AR E LB, BT WX, &R & T A, B % 38 4 % % A i
BEXEELEA, HRER, 2Ll HEMES, ANERTRIAEEERE, RIT#EL4
RAFNN T, HBEALRENERS, BRXEAETESLAEZAZWA TN, ERRGH
0 £ HILESBERAARMRR &I E, ERRERPHET AR ESE, F 8 CREEEMIEAR
BEMER, REREFILHET RN EREE,

2)8ERAWE

REANERHER NERBAZE, ARBEREENT N ZE . HESHFEMNESEI.
EXR-BB0FEANWE, ARFIAR . F—-HIRRERA;F-HIZEHEHRL, %
AFREVFENNEEHERERE., BERRB—-RBPE—F, ZRFER IS 24, 40K
EXEEZFEWKEND FERINBEREE N, E5EN, TU—-E S KEYCFEH B, —
HWRE. F—BrEANRENTESIBESAMSHHEKAN L TXAS L, ERMSRS,
FEABENEATAMAE FABRURHEER, EEFAEWH AN I AEASRIEE : 1 flt B R
feel, WAZW B E ML ) FEHRIE, 10 economic (258 ) B M, economical (R K ), WE _H4
o, RN ERENKE L, RUBICEZBRNEEAS, UREERA TR, UERZ/E68
BUBEMEARELE,

ft:2000 ££ 12 B {7} Section B

The human body is a remarkable food processor. As an adult,you may consume(S1) a ton
of food per year and still not gain or lose a pound of body weight. You are (S2) _ harnessing and
consuming energy through the intricate(S3) : of your body in order to remain in energy balance.
To ($4) a given body weight, your energy input must balance your energy output. However,
sometimes the(S5) energy balance is upset,and your(S6) body weight will either fall
or (57)

The term body image refers to the mental image we have of our own physical appearance ,and (S8)

- Research has revealed that about 40 percent of adult men and 55 percent of
adult women are dissatisfied with their current body weight. (S9)




. At the college level, a study found that 85 percent of both male and female first-year

students desired to change their body weight. (S10)

. Thin-

ness is currently an attribute that females desire highly. Males generally desire muscularity. The vast ma-

jority of individuals who want to change their body weight do it for the sake of appearance ;most want to
lose excess body fat, while a smaller percentage of individuals actually want to gain weight.
[ &% ]Sl over S2.constantly S3. mechanism S4. maintain  S5. overall S6. normal
S7. increase ‘
S8. 1t can be influenced by a variety of factors,including how much we weigh,or how that weight
is distributed.
S9. Similar findings have also been reported at the high school level , mainly with female students.
S10. The primary cause of this concern is the value that American society in general assigns to

physical appearance.
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BREBEREEASEEEEXEPRARRSNER, #THEFN, ANEFEH—T
HORARMBESEE N, MERERE FAXETEHREEY RBIHANE—-BIENTHRI R
it F4e X BT (FIANA T all,any,every %i8)) ~ U A KA BEREHER,

4) iR EIEE S R EIRNIER

XA b % 4 Which of the following is true? RO [Al, 7E [ M2 [a) BB AT LA 5638 A%
PHEBR R R A RER R, BREEN - SNAREEXTFPRE EMEEHN T T, &
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5)IBENEMNERETY L TXHER
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IICHRAMERNTEERRENDTE, —RFANALE; “EEAEXMNANNER, o
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1) MR X

RRBEMNFAENATLERNEE, SRTEHEREXAE LTI RERR, BWEHKRE
A

The insurance company paid him $ 10 000 in after his accident. (CET -6,1997 4£6 H )
A) compensation B) instalment
C ) substitution D) commission

BERHA) AT EBZEABLEAMT . A)BHEE",B) BN A PE—KF
K", CO)BRRIREM)" . D)BAIBTRE;HE". BFEHT K insurance company (R K 2
ADAHRE, RRAAESIREEEHRTMHI FET, BR, A8 ARLAE,

2) iE iR WA

WA R Z %A WE RN E X EHNERER,

The two most important in making a cake are flour and sugar. (CET -6,2000 4£ 12 A )
A) elements B) components
C) ingredients D) constituents

ERNC), ingredient A (REWH) HRI54, Bk (HWREWH) EX,RA" . element
5



BHEE - BESEAY, AT OHRERYRS, ERRERNEFR N ERNBETREN
B H A ) 843 5 component il constituent 258 HLAR 3R B #) (41) L (F8) 4o A/ o By FOBE R 45 1
BRER R B Oy BRI ACKL

3)RICEEER3IA . ZRA HRREFNE AEE,

A) FHAEBRXF

The police stopped him because he the traffic regulation.

A) damaged = B) destroyed C) broke D) corrupted

¥ Co FHARAEMN, FHDITNSER, XEFARRIFNSEANERERXLR. AEER
B E—-ERERPEEFAEERMNERXRANERS T BN, XOWESE JFR BT LEF;
I o '

B)EBRREERXR

He is very worried the examination.

A) on B) with C) about D) for

BRE C, worried about BIE 13RS, K {LLATIEH :be excited about, be anxious about, be re-
sponsible for %

C)NMiRgRxX R

He became happy a big apple on the table.
A) in the sight of B) at the sight of

C) on the sight of D) with the sight of

[EHBER A in the sight of B AA4H, # WAL A :on a large scale ( KXHAL) ,on behalf of
(fF----++) ,with regard to (X F------) ,on purpose (FEHh) %,

M ERS ,
GAURYRIBTRENE N HE, EPHERERS !
A Z SRS XEE, AR E R EE;
A a5 ERE SRR ;
FHEA—H;
B WAEIR;
WM SRR
AR ER LR

THEEJLE TR HEIRK,

1. It is no good to have the computers without the right computer programs to put into them. (JEFR
SE BiAEI4E 1R, B no good having)

2. The police warned people to be under guard against pickpockets in a crowded shop. (4117 4%,
on guard 2iF4H ),

3. Tt is an accepted custom in their country for men to remove their hats when a woman entered the
room. (RfZARE5R, DK entered B, enters) v

4. 1t is the interaction between people, rather than the events that occur in their lives that are the
main focus of social psychology. ( FIEAR —F, interaction £ FiE IHEEH is)

UERGEEMHMILNMGIT, IRFEEBRARARKNKER. B, 25 TARNE
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fe3cHh, EREA AL R B TR AN E IR SEIEY BB — N S EF, WX A F XA % EE
BWHRASHA TR IHE, H U0 The benefits the car has brought us A] 3 & There are a lot of
benefits the car has brought us. 7E SRR HES 75 W , AT LA SR A — i 3 J2 WK HE 51 Bk 490 25 A TR G
WY ER, AW FE,TRAFTAEAMALAIIRARMFEEES . B In the first place,Secondly,
Thirdly , Lastly 5% First of all, In addition, Furthermore %%, S4/MEEFAN . B4 MELXIEHE
KEMER, BT, FXEERERMSE —&, In conclusion, In my opinion, As has been noted,
In brief £ %R 5| FHGEA T A LEMFRKE REE,

EEEIBHNRATERRP XN TR, £V, FENEFY BN, ZILEHE
HHARBLAENEE, P "B EERNRNERFEE LB EXBREEREN T #, LU
—EXEPHASAF O, HABTTIIMER, O FREAH, BRAE., BERRUAE, FEFH
AUBREHEMNGNLRONS, ACES  E8Y, EFMABY ESRAXRTATHEE
XEME K. 5% % FE(B W First of all; In addition; Moreover, In conclusion)

BE—ABEHNESAREXTHMEXNZE N B EEN . &H™E AFNE GFER.
EEER BEFTREREONE, MATX R, FENEXEELRZEBRIN.

RIVELHRE XA S, RE N KEERE—NRA B BRERENE NS
WSS, LU BYE 4 R 95 A 8 51K
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Model Test 1

Part 1 Listening Comprehension (20 minutes)

Section A

Directions; In this section, you will hear 10 short conversations. At the end of each conversation , a ques-
tion will be asked about what was said. Both the conversation and the question will be spoken
only once. After each question, there will be a pause. During the pause, you mus: read the
four choices marked [A], [B], [C] and [ D). and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through the center.

1. [ A] At the information desk. [B] On the platform

[C] On the train. [D] Near the stairs.
2. [A] $5.45 [B] $1.00 [Cc] $0.95 [D] $2.05
3. [A] To help Joan study.

[B] To have some coffee by himself.

[C] To invite Joan to have some coffee with him.

(D] To study biology.
4. [A] He is going to teach a foreign student.
[B] He wants to golf.
[ C] He teaches foreign students today.
[D] He is too tired.
5. [A] They were both busy doing their own work.
[B] They waited for each other at different places.
[ C] They went to the street corner at different times.

[D] The man went to the concert but the woman did not.

6. [A] 1976 [B] 1982 [C] 1986 [D] 1989
7. [A] A house painter. ' [C] A carpenter.

[B] A postman. [D] A tax inspector.
8. [A] Airplane [B] Bus [C] Subway [D] Car

9. [A] Because he has too many dreams.
[ B] Because he likes to sleep.
[ C] Because he doesn’t put his ideas into practice.
[ D] Because he doesn’t have many good ideas.

10. [A] He may be going to the meeting.

[B] He may take her to a movie.



C] Seeing his girlfiend.
[ D] He may be driving at 3: 00.

Section B

Directions ; In this section ,you will hear 3 short passages. At the end of each passage,you will hear some
questions. Both the passage and the questions will be spoken only once. After you hear a ques-
tion , you must choose the best answer from the four choices marked [A] ,[B],[C  and [D] .
Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage 1

Questions 11 to 14 are based on the passage you have just heard.

11. ~ A]Textbooks. [ B ] Classmates.
_C]The enrollment. [ D] The environment.
12. [ A]Lack of funding. [BJA big fire.
[ C]War. [ D]Lack of students.
13. [A ]It is one of the largest public universities.
[B]1t is one of the least expensive universities.
[ C]It is one of the most beautiful universities.
[ D11t is one of the oldest universities.
14. [ A11860. [B]1814.
[C]1804. [D]1840.
Passage 2
Questions 15 to 17 are based on the passage you have just heard.
15. [ A]This week. [ B]The next century.
[ C]The next summer. [D]In three years.
16. [ A ] Opportunities for employment.
| B]Transfer system to other major colleges.
[ C]Complete physical examination system.
{ D] Information about difficult cases.
17. [ A]At a closing ceremony of conference
[ B] At an opening ceremony of a medical center
[ C] At the emergency room
[ D] At the operation room of a hospital

Passage 3

Questions 18 to 20 are based on the passage you have just heard.
18. [ A]To make more money.
[

To buy more gifts.

To stay with them at home.

They are trained to follow their father’s occupation.

They can eamn as much as their fathers.

]
[C]
[D]To cook good food for them.
19. [A]
[B]
[ C]They like to stay at home with their mothers.
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[ D] They can decide what kind of job they like to take.
20. [A]A lot of things have already been done for them.

[ B]They don't like to do much for their children.

[ C]A lot of housework is done by children themselves.

[ D] They have become much lazier than before.

Section Compound Dictation

Directions; You are going to hear a passage three times. During the first reading, you should listen care-
Sully for a general idea of the whole passage. Then listen to the passage again. When the first
part of the passage is being read, you should fill in the missing word during the pause at each
blank. After listening to the second part of the passage, you are required to write down the
main points according to what you have just heard. Finally, when the passage is read the
third time you can check what you have written.

When we think of communication, we normally think of using ___ face to face, writing messages
and so on. But in fact we communicate far more in other ways. Our eyes and _____expressions usually
tell the truth even when our words do not.

Then there are ___ , often unconscious; raising the __ | rubbing the nose, ____ the
shoulders , tapping the fingers ,nodding and shaking the head. There is also the even more ____ “body-
language” of ____ :are you sitting or standing with arms or legs crossed? Is that person standing with
hands in pockets, held in front of the body or ___ behind? Even the way we dress and the colors we
wear communicate things to others.

So, do animals communicate? Not in words. But, as we have learnt, there is more to ccmmunica-

tion. Take dogs for example,

. These
signals are surely the canine equivalent of the human body-language of facial expressions, gesture and
posture.

Color can be an important means of communication for animals.

. And making itself is commonly preceded by a special dance in which both

partners participate.

Part 1I Reading Comprehension (35 minutes)

Directions ; There are 4 passages in this part. Each passage is followed by some questions or unfinished
statements. For each of them there are four choices marked [A],[B],[C] and[D] . You
should decide on the best choice and mark the corresponding letter on the Answer Sheet with a
single line through the centre.

Passage One

Questions 21 to 25 are based on the following passage:

Between 1977 and 1981, three groups of American women ,numbering 27 in all ,between the ages of

35 and 65, were given month-long tests to determine how they would respond to conditions resembling
those aboard the space shuttle.
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Though carefully selected from among many applicants, the women were volunteers and pay was
barely above the minimum wage. They were not allowed to smoke or drink aleohol during the tests, and
they were expected to tolerate each other’s company at close quarters for the entire period. Among other
things , they had to stand pressure three times the force of gravity and carry out both physical and mental
tasks while exhausted from strenuous physical exercise. At the end of ten days,they had to spend a further
twenty days absolutely confined to bed,during which time they suffered backaches and other discomforts,
and when they were finally allowed up,the more physically active women were especially subject to pains
due to a slight calcium(%5) loss.

Results of the tests suggest that women will have significant advantages over men in space. They need
less food and less oxygen and they stand up to radiation better. Men’s advantages in terms of strength and
stamina , meanwhile , are virtually wiped out by the zero-gravity condition in space.

21. For how long was each woman tested?

[ A]Four dates [ B ]Twenty-seven months

[ C]Twenty days [ D] One month
22. Which of the following can be inferred from the passage?

([ A ]The test were not carried out aboard the space shuttle.

[ B]The woman involved had previous physical fitness training.

[ C]The women were tested once a year from 1977 to 1981.

[ D]The tests were carried out on women of all ages.

23. What can be said about the women who applied?

[ A]There were 27 in all.

[ B]They were anxious to give up either smoking or drinking.

[ C]They had previously earned the minimum wage.

[ D] They chose to participate in tests.

24. According to the passage,physical and mental tasks were carried out by the women

[ A]prior to strenuous exercise

[ B]following strenuous exercise

" C ] before they were subjected to unusual pressure

L D ] after they were subjected to unusual pressure
25. The calcium loss particularly affected

[A]all the women tested

[ B]those who had been particularly active in the previous ten days

[ C]those who were generally very active

[ D]those who had suffered backaches.

Passage Two
Questions 26 to 30 are based on the following passage.

The long years of food shortage in this country have suddenly given way to apparent abundance.
Stores and shops are choked with food. Rationing is virtually suspended, and overseas suppliers have
been asked to hold back deliveries. Yet, instead of joy, there is wide-spread uneasiness and confusion.

Why do food prices keep on rising, when there seems to be so much more food about? Is the abundance
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only temporary, or has it come 1o stay? Does it mean that we need to think less now about producing more
food at home? No one knows what to expect.

The recent growth of export surpluses on the world food market has certainly been unexpectedly
great, partly because a strange sequence of two successful grain harvests in North America is now being
followed by a third. Most of Britain’s overseas suppliers of meat, too, are of'fering more this year and
home production has also risen.

But the effect of all this on the food situation in this country has been made worse by a simultaneous
rise in food prices, due chiefly to the gradual cutting down of government support for food. The shops are
overstocked with food not only because there is more food available, but also because people, frightened
by high prices, are buying less of it.

Moreover, the rise in domestic prices has come at a time when world prices have begun to fall, with
the result that imported food, with the exception of grain, is often cheaper than the home-produced
variety. And now grain prices, too, are falling. Consumers are beginning to ask why they should not be
enabled to benefit from this trend.

The significance of these developments is not lost on farmers. The older generation have seen it all
happen before. Despite the present price and market guarantees, farmers fear they are about to be
squeezed between cheap food imports and a shrinking home market. Present production is running at 51
per cent above pre-war levels, and the government has called for an expansion to 60 per cent by 1956;
but repeated Ministerial advice is carrying little weight and the expansion program is not working very
well.

26. Why is there“wide-spread uneasiness and confusion” about the food situation in Britain?

[ A] The abundant food supply is not expected to lost.

[B] Despite the abundance, food prices keep rising.

L C] Britain is importing less food. ,

(D] Britain will cut back on its production of food.

27. The main reason for the rise in food prices is that

LA]

[B] Imported food is driving prices higher

[c]

[D] the government is providing less support for agriculture

people are buying less food
domestic food production has decreased

28. Why didn’t the government's expansion program work very well?
| A] Because the farmers where uncertain about the financial support the government guarantee.
[ B] Because the farmers were uncertain about the benefits of expanding production.
[ C] Because the farmers were uncertain whether foreign markets could be found for their produce.
[ D] Because the older generation of farmers were strongly against the program.
29. The decrease in world food prices was a result of
[A] a sharp fall in the purchasing power of the consumers
B] a sharp fall in the cost of food production

[
[ C] the overproduction of food production
. D] the overproduction on the part of the main food-exporting countries
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